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[1] PCB¥H 160 0.2 0.48
[1-1] /787 ==L 2.4 0.02 0.05
[12]¥P7aRrbE 7 ==/H 38 0.04 0.1
TR EELE Y 42 0.02 0.04
14T Fo7mpb7 ==L 30 0.02 0.06
[1-4-11 27 FF—PCBD > H 33447 hF/unbe7==L (#77) 1.2 0.008 0.021
[1-4-2] =75 F—PCBD H 5 344,57 777 x==/L (#81) 0.019 0.007 0.018
[15] <% /7nnb 7 ==Lk 23 0.02 0.04
[1-5-11 27T F—PCBD 9 5 2,33 44 FZ7nn b7 =/l (#105) 0.74 0.01 0.03
[1-5-2] 2/ FF—PCBD H H 23445 X 7unb 7=/ (#114) 0.045 0.009 0.023
[1-5-3] 27T F—PCBD H b 2344 5%/t 7 =) (#118) 2.5 0.01 0.03
[1-5-4] =75 F—PCBD H 5 2' 344 5-2FZ7nn b7 =/l (#123) 0.047 0.008 0.02
[1-5-5] 27 FF—PCBD H b 334454707 =)L (#126) 0.04 0.01 0.04
[1-6] ~FH 7 mr b7z =/LFH 19 0.02 0.04
[1-6-11 277 —PCBD 5 5 233 44 5~F V% /oo 7=, (#156) 0.26 0.007 0.018
[1-6-2] =75 F—PCBD 5 5 2,33 44,5-~F¥ /oo b7 =/l (#157) 0.078 0.009 0.022
[1-6-31 27 FF—PCBD > H 2,3 44'55-~FH 7ot 7 ==/ (£167) 0.14 0.008 0.02
[1-6-4] 27 FF—PCBD > H 3,3 44'55-~FH 7ot 7 ==/ (£169) tr(0.006) 0.006 0.017
-7~ % 78vob 7=/ 5.7 0.01 0.03
[1-7-11 27 FF—PCBD > H 223344, 5-~T X /nnt 7 ==/ (£170) 0.51 0.008 0.02
[1-72] 277 —PCBD 5 5 22' 34455 ~F X /b 7=, (#180) 1.0 0.006 0.015
[1-7-3] 277 —PCBD 5 5 233 4455 ~F X /b 7=, (#189) 0.03 0.01 0.03
(18147 ¥ 7 mr b7 == /¥H 0.98 0.02 0.05
[1:9] /7 mrbE 7 ==/ 0.10 0.02 0.05
[1-10] FHZ v 7 ==L 0.041 0.007 0.018
[2]HCB (~FH# 7o Er) 6.5 0.03 0.08
[6] DDTJH 12 0.094 0.25
[6-1] p,p'-DDT 1.9 0.01 0.04
[6-2] p,p'-DDE 4.4 0.04 0.09
[6-3] p,p'-DDD 3.6 0.006 0.016
[6-4] 0,p'-DDT 0.43 0.01 0.03
[6-5] 0,p'-DDE 0.40 0.008 0.019
[6-6] 0,p'-DDD 13 0.02 0.05
[7] 7 v V7 4 15 0.19 0.48
[7-1]cis-7 v VT v 5.3 0.06 0.14
[7-2] trans-7 &2 LT > 49 0.06 0.16
(731 A X7 a s 0.33 0.02 0.05
[7-4] cis-/ 27 mv 1.5 0.01 0.03
[7-5] trans-/ F 7 v v 3.4 0.04 0.1
[8] ~7" & 7 v L¥H 1.6 0.07 0.19
[8-1] ~T X 7 aL 0.66 0.02 0.06
[8-2] cis~T Z 7 L ARF TR 0.91 0.01 0.03
[8-3]trans-~7 ¥ 7 o )L ARF T R nd 0.04 0.1
[11-1] a-HCH 36 0.06 0.16
[11-2] p-HCH 66 0.04 0.09
[11-3]y-HCH (3% : V> T v) 18 0.09 0.23
[11-4] 3-HCH 2.5 0.03 0.06
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(1217 arFay nd 0.001 0.004
[13]~FH T rEL T ==L nd 0.09 0.24
4RV ToEY 7z —F 8 (BREENNS10ETDOEHD) nd 10 26
[14-117 F I 7 uey 7 2= —F )LIE 1.0 0.3 0.7
[14-1-1]12,2'44-7 b T 70 E Y7 2 =)L —F )L (#47) 0.7 0.3 0.7
[142] XA 7 uEY 7 2 =)L —T LA 0.6 0.1 0.3
[14-2-1]12,2' 445X 27 0EY 7 == )L=—5 /L (#99) 0.5 0.1 0.3
[143] ~F V7 uey 7 2= —F )L tr(0.3) 0.1 0.4
[14-3-1]12,2'44' 55 ~F VT 0y 7 2 =/Lo—F /L (#153) tr(0.1) 0.1 0.3
[14-3-2]12,2'44' 5,6~F VT 0y 7 2 =/Lo—F /)L (#154) tr(0.2) 0.1 0.4
[14-4] ~TF X7 0ey 7 2= —F )LIE nd 0.08 0.21
[14-4-1]122'33'45,6-~F X T REYT == )L—7 /L (#175) KO nd 0.08 0.21
[14-4-2]2,2'344'.5,6-~7 27T 0EY 7 = )Lx—F /L (#183) OHEHE

(1451 A2 4 T REY T ==L —F )UH 0.30 0.09 0.22
[14-6] /T 7 UEY T == )L=—F LA nd 0.5 1.2
[14-7] T H 7 UEY T == )L=—F /L nd 9 23
[15] v 7 vFuad s 2 ANk B (PFOS) 270 20 50
[16] ~Uv 7 VA a2y % (PFOA) 3,700 20 60
7] X 7maaXo v 4 0.01 0.04
[19] R U ZF LR (AW nd 100 200
[20] NV 7 ==V X X(LEW nd 50 120
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